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You are an entrepreneur.

Name your business.

Create your logo.







| 's learnin lective:

By the end of class, | will be able to calculate
the area between two curves with and
without technology.
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25)  The followmg diagram shows the graphs of f(x) =In (3x—2) + 1 and g (x) =—4 cos (0.5x) + 2, for ]
<x<10.
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(1) ( Calculate the value of A.
(6)
() Findf' (). |nii31 7—;“ 27
i) Findg' (x). -
L{WSCG‘SX)-I-Z Fzs”\ 4)

There are two values of x for which the eradient of f1s equal to the gra radient of g. Find
both these values of x. ,..Ft Cx’) - ‘ac (%)

4)
(Total 14 marks)



Consider the function f(x) =1+ gL
(a) (1) Find f'(x).

(1) Explain briefly how this shows that f (x) is a decreasing function for all values of x
(ie that f (x) always decreases in value as x increases).

(2)
: 1
Let P be the point on the graph of f where x=-—.
(b) Find an expression in terms of ¢ for
(1)  the y-coordinate of P;
(1) the gradient of the tangent to the curve at P.
(2)
(c) Find the equation of the tangent to the curve at P. giving your answer in the form
y=ax+b.
3)
(d) (1) Sketch the curve of f for—1 <x<2.

(1) Draw the tangent at x = —% :

(iii) Shade the area enclosed by the curve, the|tangent and the y-axis.

(iv) Find this area.
(7)
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Prove that sin?x + cot?x sin?x = 1




Prove Hhat  cin 3R = 3sinA - Hgin' A
Sm@ﬂﬁ*@ = GnlPhtesh + tos 2R sin




